
4010 Mule Winch Mount

MA11938
23001 Industrial Blvd      

Rogers, MN, 55374

Verify that all hardware and parts are included in your package.  

4010 Mule Winch Mount Contents

Item Qty Description

1 1 MA11938 Winch Mount

2 4 3/8'' x 1.00 HH G5 Bolt

3 4 3/8'' Flat Washer

4 4 3/8'' Nylock Nut

Figure 1

Installation Instructions:

1)  Insert the winch mount per Figure 2.

3) Attach your winch via the included hardware, following 

the manufacturers installation instructions.

2)  Attach the mount using the included hardware.  Refer to 

Figure 1 for bolt locations.  Tighten the 3/8'' bolts to:  25 ft-

lbs.

Figure 2

866-527-7637 (Toll Free) 1 411@motoalliance.com

Figure 2

866-527-7637 (Toll Free) 1 411@motoalliance.com


